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Roll Ne. [P Ty A —— (For all sessions) PaperCode | 6 | 1| 8 | 3

Mathematics (objective Type)
Time: 30 Minutes . Marks: 20

NOTE: Write answars to the questions on objective answer sheel provided. Four posstble answers A.B,C & D to each

queslion are given.Which answer you consider comect, fill the correspending circle 4.B.C or D given in front of each

question with Marker or pan ink on the angwar shaat provided.

a
1-1. in an oblique triangle . i a = 200 ; b =120and included angle ¥ =130/ then its area will be equal to;

(A) 8000 (B) 5000 {C) 2000 (D) 12000
2 14" R" s the circumradius, then its value is:
ac ab A abe
W aa ® 3a © A
. 23 :
3. The value of sin| cos™' 5 | equatto:
-1 1
{A) 1 ®) -1 o 3
4. The solution g1 cosec? = 2in intarval [0, 2] is
7 Ir n Sr Sx T 40
w g ® 5 T © e
5: it Z = cosf +isin &, then iz| is equal to: .
P ol @ 1 (0) 3
6. For any two subsats A and B of set |}, 1
) 4UB @ 408 o AN¥

(A} Skew Symmelric - (8) Symmatric {C} Skew Hemitian ) Hermitian
x 3

.then 'x' is equal to:

|is a singular
1

3
(A) 3 (B8} “4 i) 6 )7

9, X and P ara roots o’ + by + ¢ = 0,then @.8 is equal ta:

(A) '% (8) % (c) % (D) % '
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10. 1f" w" is & cube root of unity, then (1 +w—w! )(l -ww! ) will be equal to:

tA) 3 @) 4 i€y 2 D) 1
B l A
—  ——— . —
11.I1(;-1)(;+2] x=1 x+2.then"A" iy equal lo:

{A) -1 B) 2 {cy 2
12. The n™ root of product of n Geomeltric Means between a and b is equal lo:

(A) [a.‘;:l}'}' (B) a'b" () nlab (D) Jab

13. Ifinan AP:@, =21=35 then 4 will be equgl to:

(A) 2!n+1 ®) 2n-1 o) n-1 }

ni g [

14, m is aqual to: ; i
r r ” Ir

A S, 8 A o) :

15, Number of signals given by 5 flags of different colours using ¥ flags at a time equals.

(A) 20 (B) 40 {c (D) 60
16. Sum of sven co-efficient in the axpansion of [1 +x}' eq
: {ﬂ] znal . {B:l zu-l (ul zl-n

17. Third tarm in the expansion of |:1 ‘2-"}% is equal
_g? 1
A 9x A ®) 9x A

18. The area of a sactor of circular region of radius

D) - 4.:%

and angle 4 is equal 1o

1 ? 1 Y ==
w 370 ® 376 © g
19, 116c0s’ B+ 28in @ =5 nan tan’ & wil be@HlRM0"
3 | | 2
) 3 ® 3 © 3 © 3

o :
20. Period of 5'“5 is aqual to. . l

J r
(a 07 (B)>T © 27 o 5 : !
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Mathematics (Essay Type)

Time: 2:30 Hours ' : Marks: 80
Section -I
2. Write short answers of any eight parts from the following. S 2xB=16
: ) i el
4 5 3|
. Find the modulus of complex number 3+ 41 il Simpiify by justifying each step Y by writing properties. |
; Z__E
iii. Factorize the expression 947 4 1657, iv. Define absurgiy and give ona example. |
1 21
4 =
v. Solve the systam of linear aquations, ::' fi’t‘ :-'? vi. Find the'value of * if 2 x 2 U. i
: 1= %2 36 x !
1
vil. Define Row Rank of a matrix. viii. Sojve the equation -2 _ [0 =3, I'
be If A= {1,2,3, 4}.3 = {3, 4,5,6, -"'-8}‘1 = {szﬂ 79,10 verify distributivity of union over intersection.

x. Find the invarse of the ralation {(1,3).(2,5 I)(5.11)} 5
xi. Usa remainder theorem to find the remainder x’~x'+5x+4 isdividedby ,_ 5. | !
!
xii. Find the roots of the equation |6x? +8x+] =0 sing quadratic formula. i 1|
3. Write short anawers of any eight parts from/the folpwing. ; 2x8=16 ;
i. Rasolve zl 1 into partial fraction. ii. Fitgg 57 term of Geomelric progression G.P 26,12, .. |
- : :

iil, Defina Circular permutation.

.11 a-=c¢
T Il?;rzam In-Arithmatic progression ls?a'c_
vl. I 5,6 are two Adthmalic Means (A.M) hbtween "a28hd "b" Find "g" and "b".

1 1 1
vii. If the numbers ;IEE?I‘?—I arefin (H.P} Hormenic Progression, Find "K™,

viii. How many words can be farmad the isttérs of PLAN" using all letters when no lettels'to be repeated?

n n
ix. If "," ‘4. where © stands for gom| n then find value of 7.

x. Varify the inequality n3 2% =)\ for

ral values of n =45,

xl.l It Xis 30 small that s squate and Higher power cab bs neglected, shwztr;abt ll_jx =]- g-x A
xii. Prove thal Hofmonic Mean (H.M) batween two numbers "a" and "b* is Py :
4. Writé short answers of any nine parts from the foliowing. 2 2x9=18

! : 2tan#
Prove the lundamentsl identity €08’ 043in* =1 i verity the resut 120 26 = T—nigfrf= 30°,
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cos!l1® +sin11®

il. Show that — oy = tan 56", lv. Prove that c08330°sin600° + cos120°sin150" = —1_
a. B
v. Find the period of mﬂ:(]ﬁx}l vi. Show that’ = 4R3‘“55"‘55m 3 with usual notation.
£ G-
vii. Find tha valua of ms[mn IEJ vill. Show that I“—i—-—a-z cos’ -1

ix. Exprss the following d nce as the product of trignomatric functions cos 78 —

x. In any triangle AABC  ifa=16.1,a =42°45", 7 = 74°32' then find "#" and fa"

X

i. Find the area of triangle ABC, ¢ antwaa]das and their Included angle @ = 200,5=120,y =150°,

%il. Find the solutions of the equation Cjt & = T in the interval [0 2#‘]

xiil. Find the values of ¢ satistying the edyalion 3tan? 8+ 2.3 tan g+ [ =

Mote: Attempt any three questions from following 10x3=30
5. (a) Verity De Morgan's Lews for the given setx U={1,2,3,..... 20}, A= {2.4.6....... 20},B={1,3,5,......19}

(b} Resole into partial fraction =z

2 tara2y iasfay
ol '””?*_273 T aplE)

of B isin Iv quadrant, Find 3in (@ + 8] ghgicosla + §)

]
1
9. (a) One sida of a trangular garden is, 30m)if two comer angle are 22° = andl 12“% . find the cast of

planting the grass at the rafs of Rs.5 per square meter,

< .8
tag SN B L X
(0) Prove that a3 5 19 4
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